






Найдите все значения   m,  
при которых парабола  

 y = x2 - 6x + 4  имеет с 
прямой  my – x – 1 = 0  
единственную общую 

точку.



Задание 
№1

Верный 
ответ

1 
вариант

в

2 
вариант

б

нетд
а

1 
балл

Домашнее
 задание
№189(е)

Задание 
№2

Верный 
ответ

1 
вариант

в

2 
вариант

б

нетд
а

1 
балл

Домашнее
 задание
№240(б)

Задание 
№3

Верный 
ответ

1 
вариант

а

2 
вариант

а

нетд
а

1 
балл

Домашнее
 задание
№115 (б)

Задание 
№4

Верный 
ответ

1 
вариант

в

2 
вариант

б

нетд
а

1 
балл

Домашнее
 задание
№229(б)

Задание 
№5

Верный 
ответ

1 
вариант

б

2 
вариант

б

нетд
а

1 
балл

Домашнее
 задание
№267(в)


